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type turtle = (* any specification is 0.K. *)

val new_turtle : unit -> turtle (x OO (0, 0) OOOO turtle O
o0 =)

val advance : turtle -> float -> unit (* turtle O0O0OOODOOO
ooooo =)

val rotate : turtle -> float -> unit (* turtle OOO0OOOO0O =*)
val locate : turtle -> float * float (* turtle JOOODODODOO =)

000 turtle 000, (1.0, 0.0), (1.0, 1.0), (0.0, 1.0), (0.0, 0.0) 00O 00O
0oO0000O0o0O0ooo.

# let t1 = new_turtle ();;
val tl1 : turtle = ...
# advance tl1 1.0; locate ti;;



: float * float = (1., 0.)

# rotate t1 90.0; advance tl1 1.0; locate ti;;

- : float * float = (1., 1.)

# rotate tl 90.0; advance tl1 1.0; locate t1;;

- : float * float = (0., 1.)

# rotate tl1 90.0; advance tl1 1.0; locate ti;;

- : float * float = (0., 0.)

(x DOO0O0bOoooo (o., 0.) ODODODOODOODO, OODODOO
. %)
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e OCaml 00O sin,cos 000000 OOOOOOOODODODOOOOODO
0 (QO000,00000000000O000Uoooon)

e 1000 atan 1.0 *. 4.0 000000.

e turtle 000000000000 O0O0O0O0O0O0ODODDODOOODOODO
gooooo.



